EARAZROREIERT — 2 N—XBISY —F 2018510828 (k) AMIBR+##H9H

M bSR3 KEM [HET] B ‘ [Xiz] % ‘ [eErsm]  — | & (&) 1800M FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
on s : E AT :53. —6-5- . — HhE— (ER
118/(15 A K72 — [B] s 56.0 ! 1(5_3)7 AR R 8 (426) =l
R:N—RZI> B:FvE5741 H—L—+ JvIN2 - Ty—LBERE
o FREFHE :54. -11-11- . - RERR (EX)
IN—TILEZX R — #H 3 *Ass.o (12514/21) 11-11-11-8 | 38.1 6 (4+382) q:é?ﬁa-f—
R:2¥— k770> B:vIfavF MR R—
NREFYSEN NX&& :54. 86— . — BAE (FER)
LTS it 3 /s 1(35/2)3 8-8-6-4 | 38.9 1 ;1_246) EEEE% O
LNZ—ba2—X BNVAN—Ta J=HrTp—L
N o e aegs FEH : -12-11- — LB (BR)
HA4YEL RAH i 3 o (11514/25) 12-12-11-8 | 38.5 4 (4_2‘3 1&3‘559&
LiN—FRIN> BE-F1vya T KT —L
o & = FRAEABA : -1-1- - BORAIGE (T
ZINZ w2754 % 3 252_0 1.(595).9 1=1-1-1 | 41.5 5 (3?2) = m*m?
8T BiLM=—24 ety e
o= 4 3 | JISfE= 1:56.1 4-52-2 | 41.6| — 7 500 | &fEE (RR)
61713 AZ2—ZX7v—0A 56.0 ) (1g) | TESR=F—LF 1> T2 (1)
R:24—=1)>i0-X B:hF+¥7/N1NF DO HHIG
. . i ppat) : -8-0- - BHRE (RH)
715 9 P *l’ v 3 '7 '7'&':E/ (B] %3 A53.0 (11'536/':) 8896 40.6 B (4_?;36) ARLFHE
L:ZgrT bt —Frp—FK B:RyTa3-2T) X BB
. . BREE : -13-13- — EHEE (ER)
8 ol b1 rn—2 4 3 il 1.(536).9 13-13-13-10 40.6 16 ff) i‘l‘:ﬂﬁg&ﬁ
LY TAINHY R BilA P YN— S5
= 3 | EHR 1:57. 16-15-15- . — 2 ABRR— (FF)
9 g| T AT —X/ L % 54.0 (251/23) 61515713 40.8 1 gs) HEEH T ILY
LN=Y7714 B:5474—IAXX b J—=HrTp—L
=0 = 4 3 | AxER 1:58.0 15-16-16-15| 41.2 | — 9 454 | WIHE (FER)
101127~ NAHILT 56.0E_l () o) | B G1L=2y
L:ANT =G B:SLFFITN (/) HEa-KL—Ya> AET7
IR > 3 | deitE— 1:58.8 3-3-4-6 |43.6| — 3 424 | AT (BR)
115|10| 2/¥—4 K—0O 56.0 5) o | ) yor-L-sry
AT z—F) B:TOL3 J=HrTp—L
N P S RERE : -14-14- — BKAE (ER)
ol levTIruP b 3 sﬁé.o 1.(529).1 14-14-14-14| 42.6 10 (5_022) I
RiN— KRN B:5T4H J—H LT p—Lh
- 4 3 | BEREEX 1:59.5 2-2-2-4 |44.8| — 2 512 | HHE= (FH)
13/8[16| =7~V 54.0 2 1/2) Ca) | SEEE
xR THANAN Bid =T A NME— J—HrTr—LA
S 3 | MERE 1:59.7 -8-6- . — BifE (EX)
14]7 (14| E¥R U "3ES A O E [ Emanay
R:h—t>hvLARY BNV — J =Y Tr—L
- N R =B : —6-6- — BE—% (FEX
15 5 BASVIVRF v > % 3 £52.0 (11519/49) 6-6-6710 1 44.0 8 ?_640) NARTF (
XL JARI N B:2H/VEL BREH#E S/ 77— L4
=, 4 3 | REFR 2:01.6 4-3-9-16 |45.2| — 13 | 512 | KAfRES (RR)
N BB Rl 5.0 G119 ey | B K77~
L4140 B:ULIRFTEA L AESHE EVRNI—-T7—L4
@ 71 L
) 52.1-39.3
NA>Z24 L | 12.6-10.6-13.4-12.7-12.3-12.8-13.0-13.1-13.2
® I —F—@EBIERL
13—7+— 4,16,10(3,13)5,15(9,6,14)11,7,12-1-2,8
20—+ — 4,16(3,10)13(5,15) (9,6,14)11,7,12-1-8,2
Gol=5r= 4(16,13)-10,15(5,14,6) (3,9) (7,11)12,1,8-2
40—+ — 4,13,15-(16,6) (10,9) (7,11)-(5,14,12)8,1,2-3
[ N3
H OB 15 2,150 714K 11-15 3,890 e E 6-8 2,950 JEHE 6-11-15 13,860M
8 B 15 640M 6-15 1,610 B = 11-15 13,400 B 15-11-6 180,430
1" 310 6-11 950 B H 15-11 31,890
6 1604

ABICOVWTRDTEEERROODE. TR LIV,




